Complex Numbers Notes and Practice

Part 1: Simplify the radical.

1) V=9 ,3(/ o —=1 _(

2) V-4 AL 5) V=16 LH)

3) —V=25 ’6‘4 6) —V—49 ’/)U
Part 2: Simplify the radical.
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Part 3: Simplify the radical.
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Part 4: Simplify the expression.
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Part 5: Perform the indicated operation.
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Part 6: Perform the indicated operation.
42)i(1 +1) ,_\ —[—C
43)i(2- 1) ‘_\_ab
44)-{(5 + 21{) a-6b
45)31-21) k_p‘(’?)b
- J+\oL
¥-YEu

48) (3+i)(2+1) S%Sb
49)(2+71)(4+21) V(p+ga~U

50) (1 +41)(2+1) :
-A+90
51)(9-10 )(-8+31) q:a + ( D’l U

52)(-7-1)(3+21) -
I

- +a00

46) 2 i(6 +1)

47)-8 (6 + i)

53) (-14 + 6 (1 - |



